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o — o & w | 3 uE |y & s ] =
ol 01,540,355 | 24,448,800 | A2,908,445
2=+ 21,343,800 | 24,448,800 | A3,105,000
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NEZES 1,050,000 600,000 450,000
01 i o
NE2g3 1,050,000 600,000 450,000 | © SSotw= HLlA 83
J1 & (1,050,000,000& ) - 2 & (600,000,0008) = 450,000
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BelHHEERS 20,293,800 | 23,848,800 | A3,555,000
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O stz HMeAlA &% SHEXZ
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EE 8.109.661 | 8,509,661 | 400,000
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ddxsgs U= 800,000 | 1,200,000 | A400,000
2(1)10 doIxte e 800,000 | 1,200,000 | ~400,000 |© ZE= BAFES O+
23 (800,000,0008 ) - JI & (1,200,000,0008) =  A400,000




